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        38    (  )   28   
 14  .            (    ) 68 , 26
 , 27              .  ,   

2, 3   . 3 , 3  , 12     26    .
       ,       . 

 
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�        
.

�      
       .


�  q     

    . q = ne, n
=   , e =   .

� e- = -1.602X10-19C.
�       , 

 2      .
 
�     2    

  .
1)  :      

      
   .

�        
  .

2)  :    
        
    .

� I = q/t   , 1A =
1C/1Sec

�    2 . ..
.    (A. C):   

      
   ,     
      
     .

�    ,  , 
,      .

.   :     
      
     
 .

�      
 .

�        
    . 
      
 .

  
�      

     
3  ..

1)   :   
    
     
      .

: Ag, Cu, Au, Al
�      (Ag),

  (Cu),  (Au).
2)   :   

     
 .    
    .

: ,   , , 
   (100 ), 
    .

3)  :    
     ,  
    .

:       , 
 ,  .

�         
,      

       
 .

   
1)      

        
  ‘  ’   
       
.

2) V = w/q = Fel/q
3) SI  
4)   ,     

  
5)      E.m.f

   
  
1)       

        ‘  
’     
.

2)  E = w/q = Fed/q
3) SI  
4)   ,    

   
5)         

    
 
�        

      
       
    . 
   .

� VαI
� V/I = 
� V/I = R => V=IR (V=   

, I=  , R= )
�    (V/I ) 

      .
: 

�        
    . 
: LED


�         

       
    . 

�   , 
1Ω = 1Volt/1 Ampere

  
.  :      

      
    . 
      .
   . 

Req= R1+R2+R3 ......
�        

,      
 .

.   :   
      , 
       
      
.

�       
    . 
1/Req= 1/R1+1/R2+1/R3 ......

�       
  ,    
    .

      
1) :    

     .  
       
      
    
.

: .      
    
     
  .

.       
    
    .

2) :       
     .  Rαl.

3)   :   
         
. Rαl/a

4)   :    
         
. RαT

5)      : 
        
     .
     
 .

:       
       .
      
     .

 
�  ,   
       
 .

�   :   
    (C) 
.   ohm-1 

mho    - Seimen
�    :     

          
     
       
   .    
   .

     

  ,    
1) :     

       
2)     :     

         
3)   :     

   
4)   :    

1Ω, 2Ω   
5)    :    

     
6)  :     

,     
       

7)       :  
     10-9A 
   ,      

8)     :   
10-6A      

9)  :      
    10-3A  
         .

10)  :     
   

11)     :     
,      
       .

12)  :       
,     
.     . 

�   A.C    
    .

�    , , , 
      .

13)   :     
       
      .

�    ,    
     . 
     .

�      
        .

�    2 . ..
1)  :      
     

2)  :      
      .

�   A C    
    . 
D C     
  .

�     
30-40     .

14)  ():      
  .     
      .

           

�   :    
 ,      
  .

�   :  , 
,        .

�          
    .

�        
   .

  
1)  
�        

       
      
.

�      
     00C  .
   ,   
        
       .

   
�       

   .    
       .

�        
    .   
   ,   
        
  .

2)   
�      

          
     ,    
       
      
.      
.       
.

   
�     
�        


�   ,  



    ?

 
 
9490140420

, , 
  


